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1. ROMCTE Z 72 & W,

No.1

(1) 17 %DEIEKH 660 gb b T3, BHEIT AT
TWVWE D

xR

= .

(2) 6 %DOEIEIKE 200 gfEA S L BWE T, Kidf
g BT T D

b8

= .

(3) 17T NOBEMEKZ 770 g1EA 5 L EWE T, KA
g EET S D

b8
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(4) 15 %DBHEKE 210 glEA 5 L BWE T, Kidfd
gETT D

b2y

= .

(5) 6 %DOEHKA 880 gH D ¥, BIRIM AT
TWVWET D,

(6) 15 %DEIEKA 630 gdb b F3, BIEIXT gIET
TVWET D

g
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(7) 6 ORI 640 gH D £3, BEIXM gAY
TWVWE I D

b3

= .

(8) 7TNDEIEKD 950 gH D 3, BRI gAY
TWET D,

P2

=.

(9) 5 %ORHEIKE 410 gfEA 5 L BWE T, Kidfd]
g BT S D

b8

=.

(10) 14 %D EHEKZ 630 gfFA 5 L BNF T, K
g BT T Do
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1. ROMCTE Z 72 & W,
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(1) 17%DEIEKH 220 gb b T3, BEIT BT
TWVWE D

xR

= .

(2) 6 %DOEIEIKE 200 gfEA S L BWE T, Kidf
g BT T D

b8

= .

(3) TNORKIKE 520 gfEA S L BWE T, K
g BT T D

b8

=.

4 1%DOEIEKMN540 g b T, BEIIMgET
TWVWE 5D

b2y
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(5) 3%DAEHEKZ 200 gfEA S5 & BEWF T, KA
g LTI D

(6) 18 %D EIHEKZE 990 gEA 5 & W E T, KA
g BT T D

g
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(7) 1 %OBHEKE 450 gfEA D L BWE T, Kidfd]
g TS D

b3
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TWE D,
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=.

(9) 14 %DEIEKE 630 gEA S L BEWE T, Kidfd
g BT S D%
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=.

(10) 16 DO EIEAKD 630 g D 5, BIEIIM AT
TWVWE T D
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1. ROMCTE Z 72 & W,

(1) 2%DBEIEKE 420 gfEA D L BWE T, Kidfd]

g WET S D

xR

= .

No.3

(2) 6 %OBIEIKE 570 gfEA S L BWE T, Kidf

g BT T D

b8

= .

(3) 15 %D EHEKZE 320 gEA 5 L EWE T, Kidfd

g BT T D

b8

= .

(4) 16 %D EIEKAH 630 gdb b F3, BIEIXAT gIBET

TWE D,

b2y

= .

(5) 6 %DEMKH 0 gdH b £F, BIHIIM giFT

TWE D,

(6) 15 %DEIEKA 630 gdb b F3, BIEIXT gIET
TVWET D

g

= .

() T%DOBREKI 950 gH b £3, BEIXM gAY
TWVWE I D

b3

= .

(8) 17 %D EIIKD 840 gH b T, BHEIIM AT
TWVWET D
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=.

(9) 16 %DEHEKA 210 gH D £5, BT gidT
TVET D,

b8

=.

(10) 18 %D EIEAKD 280 gH b 5, BIEIIM giAT
TWVWE T D
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1. ROMCTE Z 72 & W,

No.4

(D) 7%DOBEIEKE 520 gfEA D L BWE T, Kidfd]
g WET S D

xR
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(2) 8WDEHEKE 70 glEA S L BWET, Kifilg
T T D%

b8

= .

(3) 14 %DEHEKZ 630 gEA S L EWE T, Kidfd
g EET S D

b8

=.

(4) 3%DBHIKE 920 gfEA S L BWE T, Kidfd
gETT D

b2y

= .

(5) 3%DAEHEKZ 200 gfEA S5 & BEWF T, KA
g LTI D

(6) 12%DEIEKAH 580 gdb b F3, BIEIXT gIBET
TVWET D

g
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(7) 6 NOBIEKE 200 gfEA D & BWE T, Kidfd]
g TS D

b3

= .

(8) 11 %DEMEKZ 210 gEA 5 L BEWE T, Kidfd
g BT D,

2%

=.

(9) 12%DREIEKAH 980 g b F3, BIEIXAT BT
TWVWE I D

b8

=.

(10) 9 %D EHIKA 670 gdH D 5, BIEIIM giBET
TWVWET D
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1. ROMCTE Z 72 & W,

No.5

(1) 6 %DBEIEKI 640 gdh T3, BHEIXM AT
TWETD,

&,

(2) 17T %DEIEKH 660 g b F3, BIEIXT gIBT
TWVWE T D

b8

= .

(3) 14%DEIEKA 390 g b F3, BIEIXT gIBET
TVWET D

b8

= .

(4) 9% EHKD 270 g b 5, BHIIM g
TWEIT D,

b2y

= .

(5) 15 %O BIEAKDI630 g h %3, BEIIM AT
TWVWE 5D

(6) 5 %DOBHEKE 410 gfEA S L BWE T, K
gETT D

g
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(7)) 11 %OEIEKE 210 gfEA 5 L BWE T, Kidfd
g T T D

b3

= .

(8) 18 %DEIE/KZ 800 gEA S5 L MWk 3, K3
g BT D,

2%

=.

(9) 2%DBHEIKE 420 gfEA S L BWE T, Kidfd]
g BT S D

b8

=.

(10) 15 %D EHIK%Z 320 gfEA 5 L RWE T, KA
g BT T Do

¥




